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2 .IF  X+
1

𝑋
= 3 then find 𝑥18 + x12 + x6 + 1

1)0
2)1
3)2
4)3
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The value of sin250+sin2250+ 

sin2450+sin2650+sin2850 is equal to

(1) 2.5

(2) 3

(3) 1.5

(4) 2
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(1) 0

(2) 1

(3) -1

(4) 
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(1) 200

(2) 400

(3) 400 

sq. m.

(4) 800 

sq.m.
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(1) 100

(2) 200

(3) 400

(4) 800
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The interior angle of a regular polygon is more by 1440

than its exterior angle. Find the number of sides of 

regular polygon.

एक संबहुभुजबहुभुजका आंतरिककोणउसके बाहिीकोण से 144 

अधिक है। संबहुभुज बहुभुजकी भुजाओंकी संख्याज्ञातकीधजए

(1) 14

(2) 16

(3) 18

(4) 20
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The average marks of 40 students in an English exam is 72. Later it is 

found that three marks 64, 62 and 84 were wrongly entered as 68, 65 

and 73. the average after mistake were rectified is –

एक अंगे्रजी पिीक्षा में 40 छात्ो ं केऔसत अंक72 हैं। बादमें यह पाया गया धकतीन अंक

64, 62 औि84 कोगलती से68, 65 औि73 केरूपमें दजज धकया गया था। गलतीको सुिािने

के बादऔसत है -

𝟕𝟏. 𝟗
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A train takes 3 hours to run from one station to another. If it 

reduces its speed by 12 km/hr. it takes 45 minutes more for the 

journey. The distance between the stations is –

एकट्र ेनको एक से्टशन से दूसिे से्टशनतकचलने में 3 घंटे् का समयलगता है।

यधद यहअपनी गधत 12धकमी/घंट्ाकमकि देता है। यात्ा में 45धमनट्अधिकलगते

हैं। से्टशनो ं के बीचकी दूिी है -
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A takes twice as much time as B and C takes thrice as 

much time as B to finish a piece of work. Working 

together they can finish the work in 12 days. The number 

of days needed for A to do work alone is-

A को एककाम पूिाकिने में B से दोगुना समयलगता हैऔि C को B 

से तीन गुना अधिकसमयलगता है। एकसाथकायज किते हुए वेकायज

को12 धदनो ंमें पूिा किसकते हैं। A कोअकेलेकायज किने के धलए

आवश्यक धदनो ंकी संख्या है-
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The difference between the simple and compound 

interest on a certain sum of money for 2 years at 

4% per annum, is Rs. 1. Find the sum. 

एक धनधित िाधश पि 2 वर्षों के धलए 4% प्रधत वर्षज की दि से

सािािणऔिचक्रवृद्धिब्याज के बीचका अंतिरु. 1. योगज्ञात

कीधजये.
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